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2

ABCDE

次の式を計算しなさい。 

① －2a(－5a＋3b＋4)          ② (－4x2y＋4xy)÷(－2x) 

                        

                       ＝2xy－2y 

3

ABCDE

次の式を計算しなさい。 

① (5a2b＋ab)÷(－
1
 5 b)          ② (2x－3y－1)×3y 

     

    ＝－25a2－5a   

4

ABCDE

次の式を計算しなさい。 

① 12x(－
1
 3 y＋

1
 6 z)           ② (x2－xy)÷

1
 3 x 

                        

                       ＝3x－3y 

6

ABCDE

次の式を計算しなさい。 

① (7x＋3)(4x－5)                       ② (8a－3b)(6a－5b) 

  ＝28x2－35x＋12x－15            ＝48a2－40ab－18ab＋15b2 

  ＝28x2－23x－15              ＝48a2－58ab＋15b2
 

7

ABCDE

次の式を計算しなさい。 

① (x＋2y)(x－y＋z)＝x(x－y＋z)＋2y(x－y＋z) 

                 ＝x2＋xy＋xz－2y2＋2yz 
② (3x－y－2)(3x－5y)＝3x(3x－5y)－y(3x－5y)－2(3x－5y) 

                   ＝9x2－18xy＋5y2－6x＋10y 

9

ABCDE

次の式を計算しなさい。                 

① (x＋5y)(x＋4y)                   ② (5x－y)2            

  ＝x2＋(5＋4)xy＋5×4y2          ＝(5x)2－2×5x×y＋y2 

  ＝x2＋9xy＋20y2
         ＝25x2－10xy＋y2 
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ABCDE

次の式を計算しなさい。 

① (3a＋2b)2                          ② (10a＋1)(10a－1)          

  ＝(3a)2＋2×3a×2b＋(2b)2               ＝(10a)2－12 

  ＝9a2＋12ab＋4b2
            ＝100a2－1 

11

ABCDE

次の式を計算しなさい。 

① (4x＋3y)(4x－3y)           ② (x＋9y)(x－12y)              

  ＝(4x)2－(3y)2                      ＝x2＋(9－12)xy－9×12y2 

  ＝16x2－9y2
                      ＝x2－3xy－108y2

                      

12

ABCDE

次の式を計算しなさい。 

① (5－x)2                           ② (－11＋x)(－11－x) 

           ＝－x2＋1212 

                       ＝121－x2
 

13

ABCDE

次の式を計算しなさい。 

① (1＋x) (4＋x)                        ② (6＋x)(x－6) 

  ＝x2＋(1＋4)x＋1×4            ＝x2－62 

  ＝x2＋5x＋4               ＝x2－36  

14

ABCDE

次の式を計算しなさい。 

① (－x－4)2                            ② (－2＋x) (8＋x) 

  ＝(－x－4)(－x－4)            ＝(x－2)(x＋8) 

  ＝x2＋8x＋16  

15

ABCDE

次の式を計算しなさい。 

① (－3x＋2y)2                 ② 



3

 4 x－8  



3

 4 x＋8     

  ＝(3x)2－2×3x×2y＋(2y)2            
 

  ＝9x2－12xy＋4y2
  

16

ABCDE

次の式を計算しなさい。 

① 



x＋

2
 3  



x－

2
 3             ② 



1

 4 a－3b  



1

 4 a＋b   

   

  ＝x2－
4

 9                           ＝

1
 16 a

2－
1
 2 ab－3b2
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ABCDE

次の式を計算しなさい。 

① 



x＋

3
 2 



x－

1
 4                ② 



1

 2 x＋4y
2

  

  ＝x2＋



6

 4 －
1
 4 x－

3
 8            

  ＝x2＋
5
 4 x－

3
 8           

19

ABCDE

次の式を計算しなさい。 

① (3x＋1)(3x－2)－(2x＋3)(2x－3)＝(3x)2＋(1－2)×3x＋1×(－2)－{(2x)2－32} 

                              ＝9x2－3x－2－4x2＋9 

                              ＝5x2－3x＋7 
② (2x＋y)2－(x＋4y)(3x－5y)＝(2x)2＋2×2x×y＋y2－(3x2－5xy＋12xy－20y2) 

                         ＝4x2＋4xy＋y2－3x2－7xy＋20y2 

                         ＝x2－3xy＋21y2
  

20

ABCDE

次の式を簡単にしなさい。 

① (x＋2)(x＋3)＋(x－3)2               ② (a－5)(a＋5)－(a－2)(a－4)  

  ＝x2＋5x＋6＋x2－6x＋9                  ＝a2－25－(a2－6a＋8) 

                      ＝6a－33  

21

ABCDE

次の式を簡単にしなさい。 

① 2(x＋4)2－(x－4)(x＋8)                 ② 3(x＋2)(x－2)－(x－2)2 

  ＝2x2＋16x＋32－x2－4x＋32       ＝3x2－12－x2＋4x－4 

  ＝x2＋12x＋64          ＝2x2＋4x－16 

23

BCDE

① (x＋y＋5)(x＋y－6)          

  ＝A2－A－30               

  ＝(x＋y)2－(x＋y)－30 

  ＝x2＋2xy＋y2－x－y－30 
② (x－y＋z)2 

  ＝A2＋2Az＋z2 

  ＝(x－y)2＋2(x－y)z＋z2 

  ＝x2－2xy＋y2＋2xz－2yz＋z2
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BCDE

次の式を計算しなさい。 

① (x＋y－1)(x＋y－2)           

  ＝A2－3A＋2                             

  ＝(x＋y)2－3(x＋y)＋2                     

  ＝x2＋2xy＋y2－3x－3y＋2 

② (a－b＋3)(a＋b－3)   

  ＝a2－(b－3)2 

  ＝a2－(b2－6b＋9) 

  ＝a2－b2＋6b－9  

25

BCDE

次の式を計算しなさい。 

① (5＋x＋y)(x－5＋y)            

  ＝(x＋y)2－52             

  ＝(x2＋2xy＋y2)－25           

  ＝x2＋2xy＋y2－25           
② (x－y－3)2   

  ＝A2－6A＋9 

  ＝(x－y)2－6(x－y)＋9 

  ＝x2－2xy＋y2－6x＋6y＋9 

 


